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Exercise

1. Define power set of a Set.

Watch Video Solution

2. If set A has three elements and set B={3,4,5} find the nummber of

elements of 

Watch Video Solution

A × B

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kcUD2HDWzNTb
https://dl.doubtnut.com/l/_okEaM5vLerWe


3. Convert  into radian measure.

Watch Video Solution

40∘ , 20'

4. Write the multiplicative inverse of .

Watch Video Solution

− i
√3
2

1

2

5. Is 3! + 4! = 7!?

Watch Video Solution

6. What is the  term of the sequence defined by 


Watch Video Solution

20th

an = (n − 1)(2 − n)(3 + n) ?

https://dl.doubtnut.com/l/_okEaM5vLerWe
https://dl.doubtnut.com/l/_Sub5hO8OFUnG
https://dl.doubtnut.com/l/_P7GuFbwz20UW
https://dl.doubtnut.com/l/_v1jHEiPmpTWJ
https://dl.doubtnut.com/l/_HHXQYkvUTt1j


7. Find the slope of the line .

Watch Video Solution

3x − 4y + 10 = 0

8. Find the derivative of x at 

Watch Video Solution

x = 1.

9. Write the negation of the statement.

''intersection of two disjoint sets is not an empty set "

Watch Video Solution

10. A die is rolled.Describe the event "a number less than 7" occurs.

Watch Video Solution

https://dl.doubtnut.com/l/_HHXQYkvUTt1j
https://dl.doubtnut.com/l/_IsmLuA29gsIT
https://dl.doubtnut.com/l/_O34iYIQWfZIx
https://dl.doubtnut.com/l/_gIvsin4kts3L
https://dl.doubtnut.com/l/_yaN2zwoayaFN


Watch Video Solution

11. Let A and B be two sets such that n(A)=3 and n(B)=2,If (5,a),(6,b),

(7,a) are in then find the sets A and B,Where a,b are distinct

elements.

Watch Video Solution

A × B

12. If A={2,5,7,9,11},B={7,9,11,13} and C={11,13,15},then find 

Watch Video Solution

A ∩ (B ∪ C)

13. If X and Y are two sets such that  has 18 elements, X has 8

elements and Y has 15 elements , how many elements does 

have?

Watch Video Solution

X ∪ Y

X ∩ Y

https://dl.doubtnut.com/l/_yaN2zwoayaFN
https://dl.doubtnut.com/l/_ZypjG3FnjIBD
https://dl.doubtnut.com/l/_yEJQ4A7Vc44p
https://dl.doubtnut.com/l/_z6HJkHNhxYlm


14. Find the value of .

Watch Video Solution

sin( )
31π

3

15. Prove that: 

Watch Video Solution

cos 3x = 4 cos3 x − 3 cos x

16. Show that (-1,2,1),(1,-2,5),(4,-7,8) and(2,-3,4) are the vertices of

parallelogram.

Watch Video Solution

17. Express  in the form of .

Watch Video Solution

(3 + √2i)(3 − √2i)

(5 − 2i) − (5 + 2i)
a + ib

https://dl.doubtnut.com/l/_nykaQctaDCU9
https://dl.doubtnut.com/l/_mVQQ1rEfwtly
https://dl.doubtnut.com/l/_GUUS8oVgfcW1
https://dl.doubtnut.com/l/_MZb06S7sz6qF


18. The marks obtained by a student of Class XI in first and second

terminal examination are 62 and 48, respectively. Find the minimum

marks he should get in the annual examination to have an average

of at least 60 marks.

Watch Video Solution

19. Find the equation of the line, which makes intercepts -3 and 2 on

X and Y-axes respectively.

Watch Video Solution

20. Find the equation of the line passing through  and

perpendicular to the line through the points .

Watch Video Solution

( − 3, 5)

(2, 5)  and ( − 3, 6)

https://dl.doubtnut.com/l/_MZb06S7sz6qF
https://dl.doubtnut.com/l/_IViZlyU43pzV
https://dl.doubtnut.com/l/_MTjJ9ZUaKKKX
https://dl.doubtnut.com/l/_oh34Dzr89jhf


21. Evaluate: .

Watch Video Solution

lim
x→ 0

ax + x cos x

b sinx

22. Write the contrapositive and converse of "If a paralleogram is a

square,then it is a rhombus".

Watch Video Solution

23. Two series A and B with equal means standard deviation 9 and 10

respectively . Which series is more consistent ?

Watch Video Solution

24. A coin is tossed 3 times.Events A and B are, A: no head

appears,B:No tail appears.Show that A and B are mutually exclusive.

https://dl.doubtnut.com/l/_rBrBlf8f90wH
https://dl.doubtnut.com/l/_pMKIS05morSI
https://dl.doubtnut.com/l/_f6vo1O5v1efB
https://dl.doubtnut.com/l/_oJw6X98klsRm


Watch Video Solution

25. In a survey it was found that 21 people liked product A, 26 liked

product B and 29 liked product C. If 14 people liked products A and

B, 12 people liked products C and A, 14 people liked products B and C

and 8 liked all the three products. Find how many liked product C

only.

Watch Video Solution

26. If A={1,2,3,4},B={5,6}.Define a relation R from A to B by

.Write R in the roaster

form.Write down its domain and range.

Watch Video Solution

R = {(x, y) : x ∈ A, y ∈ B, x − yisodd}

https://dl.doubtnut.com/l/_oJw6X98klsRm
https://dl.doubtnut.com/l/_j7Qms2eNlKLw
https://dl.doubtnut.com/l/_76TNmaFL277J


27. If  where x and y both lie in second

quadrant, find the vlaue of 

Watch Video Solution

sinx = , cos y = − ,
3

5

12

13

sin(x + y).

28. Convert  into polar form.

Watch Video Solution

1 + i√3

2

29. 

Watch Video Solution

27x2 − 10x + 1 = 0

30. Find the number of arrangements of the letters of the word

PERMUTATIONS.In how many of these arrangements (i) word start

with P and ends with S

https://dl.doubtnut.com/l/_kpIjqbJUSjgW
https://dl.doubtnut.com/l/_kdVPSBZ0Mp6b
https://dl.doubtnut.com/l/_QtZpAfkclhHF
https://dl.doubtnut.com/l/_rC7qi0CsC3c4


Watch Video Solution

31. In how many ways can the letters of the word 'PERMUTATIONS '

be arranged if the vowels are all together?

Watch Video Solution

32. Expand .

Watch Video Solution

(x2 + ( ))
5

, x ≠ 0
3

5

33. How many terms of the G.P.  ..........are needed to give the

sum  ?

Watch Video Solution

3, ,
3
2

3

4
3069

512

https://dl.doubtnut.com/l/_rC7qi0CsC3c4
https://dl.doubtnut.com/l/_0arEYbDrqu7b
https://dl.doubtnut.com/l/_6jAh8fuAZfWR
https://dl.doubtnut.com/l/_4VQV5wBcXhQs


34. If the pth, qth and rth terms of a G.P. are , l,m,n respectively ,

then  is 

Watch Video Solution

lq−rmr−pnp−q :

35. Find the equation of circle which passes through(1,0) and(0,-1)

and whose centre lies on the line .

Watch Video Solution

x − y + 2 = 0

36. Differentiate of  w.r.t. x from first principles

Watch Video Solution

cos x

37. By the method of contrapositive, check the validity of the

statement: " If a, b in Z` such that ab is odd, then both 'a' and 'b' are

https://dl.doubtnut.com/l/_z996AnleGKq7
https://dl.doubtnut.com/l/_5UVlzcJrcw5j
https://dl.doubtnut.com/l/_2OBMNBE9Sabd
https://dl.doubtnut.com/l/_WdaOy5ZG8DuS


odd".

Watch Video Solution

38. A and B are events such that P(A) =0.42,P(B) =0.48 and P(A and B)

=0.16 Determine (i) P( not A ) ,(ii) P(not B) ,(iii) P ( A or B)

Watch Video Solution

39. A and B are events such that P(A) , P(B)  and 


P(A and B) , Determine (i) P(not A), (ii) P(not B) and (iii) P(A or

B).

Watch Video Solution

= 0.42 = 0.48

= 0.16

40. A and B are events such that P(A) =0.42,P(B) =0.48 and P(A and B)

=0.16 Determine (i) P( not A ) ,(ii) P(not B) ,(iii) P ( A or B)

https://dl.doubtnut.com/l/_WdaOy5ZG8DuS
https://dl.doubtnut.com/l/_EvYRMqYrKv0h
https://dl.doubtnut.com/l/_isdYKwpKbNr1
https://dl.doubtnut.com/l/_YZ6GYWjogH7X


Watch Video Solution

41. A committee of two persons is selected from two men and two

women.What is the probability that the committee will have (i) no

men (ii)two men

Watch Video Solution

42. A committee of two persons is selected from two men and two

women.What is the probability that the committee will have (i) no

men (ii)two men

Watch Video Solution

43. Define an identity function . Draw the graph of identify function

and write Domain and Ranges ?

https://dl.doubtnut.com/l/_YZ6GYWjogH7X
https://dl.doubtnut.com/l/_ig6svZFPXDwB
https://dl.doubtnut.com/l/_aYItFy4BQwf1
https://dl.doubtnut.com/l/_nw029A7WjZLC


Watch Video Solution

44. 

Watch Video Solution

= cot 3x
cos 4x + cos 3x + cos 2x

sin 4x + sin 3x + sin 2x

45. 

Watch Video Solution

+ + + ……………. + = ∀n ∈ N.
1

1.2

1

2.3

1

3.4

1

n(n + 1)

n

n + 1

46. Solve the inequalities :  graphically.

Watch Video Solution

2x + 3y ≤ 12, x ≥ 2, y ≥ 2

https://dl.doubtnut.com/l/_nw029A7WjZLC
https://dl.doubtnut.com/l/_JogAJFgRKARi
https://dl.doubtnut.com/l/_hXTapDCw81Hi
https://dl.doubtnut.com/l/_I8yMTQJioKDZ


47. A committee of 7 has to be formed from 9 boys and 4 girls. In

how many ways can this be done when the committee consists of 

(i) exactly 3 girls 

(ii) atleast 3 girls? 

(iii) atmost 3 girls?

Watch Video Solution

48. A committee of 7 has to be formed from 9 boys and 4 girls. In

how many ways can this be done when the committee consists of 

(i) exactly 3 girls 

(ii) atleast 3 girls? 

(iii) atmost 3 girls?

Watch Video Solution

https://dl.doubtnut.com/l/_zhTuQCHK4mfm
https://dl.doubtnut.com/l/_uKCbzbUnqdY7


49. A committee of 7 has to be formed from 9 boys and 4 girls. In

how many ways can this be done when the committee consists of 

(i) exactly 3 girls 

(ii) atleast 3 girls? 

(iii) atmost 3 girls?

Watch Video Solution

50. Show that the middle term in the expansion of  is

1.3.5…(2n-1)/n! , where n is a positive integer.

Watch Video Solution

(1 + x)2n

2n. xn

51. Derive the equation of a straight line passing through the point

 having the slope m.Hence deduce the equation of a line(x0, y0)

https://dl.doubtnut.com/l/_T70SiXQlYq3y
https://dl.doubtnut.com/l/_e7byysBLcU9h
https://dl.doubtnut.com/l/_UG8eMddjgasJ


which passing through(2,1)which makes an angle with positive

direction of x-axis.

Watch Video Solution

45∘

52. Prove that  ?

Watch Video Solution

lim
x→ 0

( = 1)
sinx

x

53. Find the mean deviation about the mean for the following data:

Watch Video Solution

54. Prove that geometrically that

 and hence show that 

.

cos(x + y) = cos x. cos y − sinx. siny

cos 2x = cos2 x − sin2 x

https://dl.doubtnut.com/l/_UG8eMddjgasJ
https://dl.doubtnut.com/l/_A2ZDYO0w0DO3
https://dl.doubtnut.com/l/_qOQjBcgYMOXw
https://dl.doubtnut.com/l/_fHjehB6Eehpd


Watch Video Solution

55. Find the sum to n terms of the series , 5+11+19+29+41…

Watch Video Solution

56. Define hyperbola as a set of points derive its equation in the

form 

Watch Video Solution

− = 1
x2

a2

y2

b2

57. Find the derivative of  with respect to x

Watch Video Solution

x + cos x

tanx

https://dl.doubtnut.com/l/_fHjehB6Eehpd
https://dl.doubtnut.com/l/_ZfFShVZH7BEI
https://dl.doubtnut.com/l/_r8TQh9pYcJMU
https://dl.doubtnut.com/l/_qlm6yGixtPBZ

